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Read the following instructions/ Question Marks

1. This test consists of eight questions. ,4
1.

2. You must show all necessary steps of 2. /4
your solution to earn full credit. 3. /4
4, /4
3. The use of calculators is not allowed. 5 /4
4. This test worth 8% of the total marks 6. /4
allocated to this course. 7. /4
8. /4

Total Marks /32




Question 1: If f(x)=v2+x , x >-2.Find J/'(x)and its domain.
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Question 2: Let f (x) = (%J -8. (4 Points)

a) Find the horizontal asymptote of the function f{x).
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b) Find the x -intercept and Y —intercept of the function f (x).
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Question 3: Find the domain in interval notation of the function:

f(x)=log, (x ‘tx - 2) (4 Points)
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Question 4: Simplify the given expression:

(log,5)(log ;7)(log, 81) () (4 Points) —-?_
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Question 5:

A) Find the angle of at least positive measure that is coterminal with the angle -792°
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B) Perform the calculation 180° —124°51 ( o - ‘>cnf*~}T )
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Question 6: Find the solution set of the equation
e’ ~5* +6=0 (4 Points)
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Question 7: If the terminal side of an angle @ in the standard position passes through
the point(0,-5). Find the following trigonometric functions:
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Question 8: If tan40°= 0.84, find the value of (4-points)
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